Morwee 5 6\;«% Ienest ¢ ch‘ouub Imea&s(
6600@%: ?

AgsowTe + K ( ) X levine
?"-?o-tk ?I:?or
P,

(e=9-?) */ X (r-. %_\

PP PP

+K
\“-
+k/ ?"’ ?"*3K ?:?‘_3
5 o
,,,,, RAT]S I\

Do oeatGuwtn L
Sane AMWNT )L 1S ApReD CxfoneitiaL é(low{H

AM e TiMe Stef.

§~~
)

v

Vae (s MutiPlep B SAME
Accnts EMWL Amwu? [uum./ow. B sAMe ¥ \
SMiLe \WNales M EAH Time  STeR.
LN L«MWLL{
ACcoATS GANN
Coufoord Mawsfb

G xRy tALY.
en. P=L — (o,
P, 1.5 — L,13)



1. SIMPLE INTEREST

Used by default for short-term loans/investments. ( Tme fenens £ 1 ‘{eML\

e [ = interest e ¢ = time (years)
e P = principal e A = account balance/future value
e r = annual interest rate (decimal)

P(Lere)
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A=+ %t

51. How much interest will you have to pay for a 60-day loan of
$500, if a 36% annual rate is charged?
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56. A check for $3,097.50 was used to retire a 5-month $3,000
loan. What annual rate of interest was charged?
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63. What is the purchase price of a 50-day T-bill with a ma-

turity value of $1,000 that earns an annual interest rate of
5.53%?
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70. To complete the sale of a house, the seller accepts a 180-day
note for $10,000 at 7% simple interest. (Both interest and
principal are repaid at the end of 180 days.) Wishing to use
the money sooner for the purchase of another house, the
seller sells the note to a third party for $10,124 after 60 days.
What annual interest rate will the third party receive for the

investment?
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2. COMPOUND INTEREST

e P = principal e A = account balance/compound
e r = annual interest rate (decimal) amount
e 1 = number of compound periods e rp = effective rate/annual per-

per year centage yield (APY)
e ¢ = time (years)
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66. A person with $14,000 is trying to decide whether to pur-
chase a car now, or to invest the money at 6.5% compounded
semiannually and then buy a more expensive car. How much
will be available for the purchase of a car at the end of 3
years?
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70. In a suburb, housing costs have been increasing at 5.2% per
year compounded annually for the past 8 years. A house
worth $260,000 now would have had what value 8 years ago?
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75. You have saved $7,000 toward the purchase of a car costing
$9,000. How long will the $7,000 have to be invested at 9%
compounded monthly to grow to $9,000? (Round up to the
next-higher month if not exact.)
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The buying and selling commission schedule shown in the table =

is from an online discount brokerage firm. Taking into consider-
ation the buying and selling commissions in this schedule, find the —
annual compound rate of interest earned by each investment in

Problems 95-98.

Transaction Size

Commission Rate

$0-$1,500
$1,501-$6,000
$6,001-$22,000
$22,001-$50,000
$50,001-$500,000
$500,001+

$29 + 2.5% of principal
$57 + 0.6% of principal
$75 + 0.30% of principal
$97 + 0.20% of principal
$147 + 0.10% of principal 5
$247 + 0.08% of principal

97. Aninvestor purchases 200 shares of stock at $28 per share, holds

the stock for 4 years, and then sells the stock for $55 a share. .35 m
= (

98. An investor purchases 400 shares of stock at $48 per share,
holds the stock for 6 years, and then sells the stock for $147

a share.
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